
 	
        	
  

     Rallye lecture Roman 
	
  
	
  

	
  
	
  

	
  
	
  

�Quel	
  est	
  le	
  code	
  de	
  Paul	
  ?	
  
 C’est	
  :	
  A1-­‐2C4	
  
 C’est	
  :	
  13-­‐NRV	
  
 C’est	
  :	
  1Q9	
  

	
  

�Comment	
  fait-­‐il	
  pour	
  tomber	
  et	
  se	
  faire	
  mal	
  ?	
  
 Il	
  a	
  glissé	
  sur	
  une	
  peau	
  de	
  banane.	
  
 Il	
  a	
  glissé	
  sur	
  un	
  flan	
  aux	
  abricots.	
  
 Il	
  a	
  glissé	
  sur	
  une	
  feuille	
  morte.	
  

	
  

�Qu’indique	
  l’ordinateur	
  de	
  Mr	
  Verzy	
  ?	
  
 L’ordinateur	
  indique	
  que	
  Paul	
  malade.	
  
 L’ordinateur	
  s’éteint	
  brusquement.	
  
 L’ordinateur	
  indique	
  que	
  Paul	
  est	
  une	
  vache.	
  

	
  

�Comment	
  est	
  habillée	
  la	
  maman	
  de	
  Paul	
  pour	
  le	
  Rendez-­‐
vous	
  avec	
  le	
  directeur	
  ?	
  

 Elle	
  a	
  mis	
  sa	
  robe	
  noire	
  et	
  ses	
  bottes.	
  
 Elle	
  a	
  mis	
  son	
  petit	
  ensemble	
  gris.	
  
 Elle	
  a	
  mis	
  avec	
  un	
  jean	
  et	
  des	
  baskets.	
  

	
  

�Que	
  fait	
  Massacrator	
  lorsque	
  Paul	
  s’avance	
  vers	
  lui	
  ?	
  
 Il	
  lui	
  donne	
  un	
  coup	
  de	
  corne	
  dans	
  les	
  fesses.	
  
 Il	
  lui	
  lèche	
  le	
  visage.	
  
 Il	
  lui	
  donne	
  un	
  coup	
  de	
  queue	
  dans	
  le	
  dos.	
  

	
  
	
  

5 bonnes réponses? 
Bravo! 

Tu obtiens 10 points. 

3 ou 4 bonnes 
réponses ?  
C’est bien. 

Tu obtiens 5 points. 

Moins de 3 bonnes 
réponses ? 

Relis le livre et 
retente ta chance ! 

 Score : 
…../10 

www.jardinalysse.com/ 

	
   Vachement moi	
  
Emmanuel	
  Bourdier 



CORRECTION 
	
  
	
  

	
  
	
  

	
  
	
  

�Quel	
  est	
  le	
  code	
  de	
  Paul	
  ?	
  
 C’est	
  :	
  A1-­‐2C4	
  
 C’est	
  :	
  13-­‐NRV	
  
 C’est	
  :	
  1Q9	
  

	
  

�Comment	
  fait-­‐il	
  pour	
  tomber	
  et	
  se	
  faire	
  mal	
  ?	
  
 Il	
  a	
  glissé	
  sur	
  une	
  peau	
  de	
  banane.	
  
 Il	
  a	
  glissé	
  sur	
  un	
  flan	
  aux	
  abricots.	
  
 Il	
  a	
  glissé	
  sur	
  une	
  feuille	
  morte.	
  

	
  

�Qu’indique	
  l’ordinateur	
  de	
  Mr	
  Verzy	
  ?	
  
 L’ordinateur	
  indique	
  que	
  Paul	
  malade.	
  
 L’ordinateur	
  s’éteint	
  brusquement.	
  
 L’ordinateur	
  indique	
  que	
  Paul	
  est	
  une	
  vache.	
  

	
  

�Comment	
  est	
  habillée	
  la	
  maman	
  de	
  Paul	
  pour	
  le	
  Rendez-­‐
vous	
  avec	
  le	
  directeur	
  ?	
  

 Elle	
  a	
  mis	
  sa	
  robe	
  noire	
  et	
  ses	
  bottes.	
  
 Elle	
  a	
  mis	
  son	
  petit	
  ensemble	
  gris.	
  
 Elle	
  a	
  mis	
  avec	
  un	
  jean	
  et	
  des	
  baskets.	
  

	
  

�Que	
  fait	
  Massacrator	
  lorsque	
  Paul	
  s’avance	
  vers	
  lui	
  ?	
  
 Il	
  lui	
  donne	
  un	
  coup	
  de	
  corne	
  dans	
  les	
  fesses.	
  
 Il	
  lui	
  lèche	
  le	
  visage.	
  
 Il	
  lui	
  donne	
  un	
  coup	
  de	
  queue	
  dans	
  le	
  dos.	
  

	
  
	
  

5 bonnes réponses? 
Bravo! 

Tu obtiens 10 points. 

3 ou 4 bonnes 
réponses ?  
C’est bien. 

Tu obtiens 5 points. 

Moins de 3 bonnes 
réponses ? 

Relis le livre et 
retente ta chance ! 

 

	
  

Score : 
…../10 

www.jardinalysse.com/ 

	
   Vachement moi	
  
Emmanuel	
  Bourdier 


